BLUE OX BX1110 Installation Instructions
1984- 2001 Jeep Cherokee Models
® 1984-92 Jeep Comanche
Strong As An (™ 1984-90 Jeep Wagoneer & LTD

Installation of this baseplate requires removing the front bumper and the plastic
molding on the front bumper. The lower plastic spoiler
needs to be removed and trimmed to allow for the
attachment tabs. If vehicle is equipped with a steel belly
pan it will need to be removed. Holes need to be drilled.
The RangeFinder Il and adapters can not be used with this
vehicle. The Acclaim will not fold up with this vehicle.

| P

1984 - 96 Cherokee
1984 - 92 Comanche

1. The front bumper needs to be removed for access
to the frame. There are four T50 Torx bolts that secure the
bumper. Two on the bottom and two on the top.

2. Remove the screws from the plastic center grill and
the plastic molding surrounding the headlights. Set pieces
aside. Remove the fog lights if vehicle is equipped with
them.

3. Remove the two plastic pieces from each end of the
metal bumper. Reach from underneath the molding using

a ratchet and extension and a 7mm socket to remove the
bolts fastening the molding to the fenders, also remove the
bolts from the front of the moldings. Remove the vacuum
ball fastened to the passenger side of the bumper. Remove
the top and bottom Torx bolts fastening the metal bumper to
the frame.

4. Remove the rivets fastening the lower plastic spoiler
to the bumper. It will be replaced later.

All Models

5. If vehicle has a skid plate it needs to be removed. If
vehicle has a rubber rock guard, fold it out of the way for
baseplate installation.

6. Notice and remove the two black triangular brackets
(one on each side of the frame) with three bolt holes each.
Remove the metal nut clips (two on each side) that were
used for the front holes of the bracket.

7. Newer model Cherokees need to have the plates £
removed from the front of the frame to get access to the center of the frame

Page 1 of 3 292-2154 Rev. C 8/12/09 © 2006, 07, 08, 09 Blue Ox



8. The baseplate's sidemounts (Item 1) will be placed between
the black brackets and the frame. Use the 7/16" bolts, nuts and wash-
ers (Items 2,3,5, and 6) with the two 4 inch mount plates (Item 4 to
be used on models prior to and including 1999) to replace the front
two bolts of the brackets. The 4 inch plates will be placed inside the
frame. The back bolts will be reused. Use Loctite Red on all bolts
and tighten.

1997 Cherokee Models

NOTE: If vehicle has tow hooks,
remove them for baseplate installa-
tion. The Tow hooks are installed
later and the factory bracket will
be replaced with new tow hook
brackets. The new tow hook
brackets may not work for models
older than 1997.

9. Use the horizontal braces extending back from the baseplate
along the frame as a template and drill the 1/2" holes. Use the 7/16"
bolts (Item 3) and 7/16" wire nuts (Item 7). If there is a gap between
the frame and the brace use the extra 7/16" flat washers as spacers.
Use Loctite Red on all bolts.

10. Bolt the tow hooks back into place, install the new tow hook
brackets using the 7/16" hardware. Use Loctite Red on all bolts.

11. Replace the bumper and vacuum ball. The plastic spoiler is
trimmed to allow for the attachment tabs. Hold the spoiler up to its
original position, mark and trim. Replace the spoiler using the plastic
rivets supplied in bolt bag.

12. Replace the plastic end pieces and fog lights.

13. The dimensional variations between otherwise identical cars can be considerable. While the
location and size of the holes in the baseplate were designed to allow for easy installation, it may be
necessary to file a hole to allow a bolt to clear.

14. DEALER OR INSTALLER: BE SURE OWNER RECEIVES THE INSTRUCTION SHEET.

NOTE: If vehicle is equipped with a steel or plastic skid plate, it can be reinstalled with careful trim-
ming or it can be left off the vehicle.

Tools Required
Torx T25 Drill Loctite Red
Torx T45 1/2" Drill Bit 7/16" Wrench
Torx TS50 Transfer Punch 11/16" Wrench
7mm Socket 8mm Wrench 5/8" Wrench
10mm Wrench 15mm Socket 7/16" Socket
Socket Extension 18mm Socket

Page 2 of 3 292-2154 Rev. C 8/12/09 © 2006, 07, 08, 09 Blue Ox



MONOGUAWN-=
o
™
4
o

= ©
o

Parts List

Part No.
61-4991

203-0004
201-0416
102-5245
203-0011
202-0004
61-4400

290-0331
XXX=-XXXX
61-5553

61-5554

226-0046
229-0359

e LT ]]]]

Qty.

-
N

AN -2 =22NONOOONO®

1

Page 3 of 3

292-2154 Rev. C

Description

Weldment, Baseplate BX1110
7/16” Flat Washer

7/16"-14 x 1 1/2” Hex Bolt, Grade 5
Flat Plate

7/16” Lock Washer

7/16” Hex Nut

7/16” Wire Nut

Pine Tree Clips (not shown)
Existing Bolts

Driver Side Tow Hook Bracket
Passenger Side Tow Hook Bracket
Baseplate Safety Cable, 36" CL Il (NS)
Quicklink, 3/8, ZP (Not Shown)

8/12/09 © 2006. 07, 08, 09 Blue Ox



General Information

1. Ensure that your product(s) are registered online at www.blueox.com. It is crucial to register your product(s)
so that you may be alerted of product offerings, updates, upgrades, maintenance and safety bulletins, and/
or recalls.

2. ltis the owner’s responsibility to inspect all towing equipment for cracked welds, missing or worn
parts and loose bolts before each towing trip. Be sure to use Loctite® Red on all bolts and tighten to the
recommended specifications.

3. Itis the owner’s responsibility to hook up all towing equipment per manufacturer’s instructions/
recommendations.

4. Remove the attachment tabs when not in use (if applicable).

Notice To Baseplate Installer
1. Itiis YOUR responsibility to watch for:
* Oil cooler and air conditioner lines
* Electrical wires and hoses
» Missing parts or attaching points on the frame

** If the baseplate is improperly installed and is against a wire or hose, it could cause fluid leaks or
electrical shorts some time after the actual baseplate installation.

Permanent Baseplate Safety Cable Installation

Permanent baseplate safety cables are strongly recommended when towing a vehicle with a tow bar.
The principle function of the permanent baseplate safety cables is to prevent the towed vehicle from
breaking loose in the event the connection between the frame of the towed vehicle and the baseplate
fails or becomes disconnected. The cables must be connected from the baseplate to the frame rail

or cross member of the vehicle’s frame. The illustrations below show the possible arrangements
recommended by Blue Ox®. Each permanent baseplate safety cable must have an adequate weight
rating for the towing system. The weight rating of the two (2) cables together will not qualify.

Do not mount the permanent baseplate safety cables against wires, hoses or brake lines.

These permanent baseplate safety cables should remain installed as long as the baseplate is
installed on the vehicle. Permanent baseplate safety cables are to be used in conjunction with,
and NOT a replacement for legally required safety cables attaching the towed vehicle to the towing
vehicle.

OPTION #1 OPTION #2
Fermanent Bassplote Sofely Cobles Fermanant Baseploie Safety Cobles
toc Croaa Mesmber or to Croam_ Member or
Frame of Towsd Vehicla. Frame of Towad Vehlcle.

Convanlanca
Link

5/11/15



